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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1.

Tl HauAH 310 Y9 U9 W A I T g |

Candidate must write first his / her Roll No. on the question
paper compulsorily.

T UF % ERl 9 SIS TAR H HA YHR I I / TR/ SREEH
B TR BRI W7 3 WY I el A |

If there is any error / difference / contradiction in Hindi &
English versions of the question paper, the question of Hindi
version should be treated valid.

[ U9 T &1 U9 hHih 23 F H 24 3T {h ohed ¢ |

All the questions are compulsory. Question Nos. 23 and 24 have
internal choices.

ek U9 ST ST &l T8 STR-Gehl | & o |

Write the answer to each question in the given answer-book only.
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5. 9 U % UF 9 A YH THM 3P ot 9N €, 3T G 9 T A Th
g Faq G |
For questions having more than one part carrying similar marks,

the answers of those parts are to be written together in

continuity.
6. UST HHE 1 % IR 9 (i, ii, iil 997 iv) €1 TIF 9T & IW F OR

THeT (31, 9, § UE T ) &1 W& Thed B ITRER SW-JRasT |

AHTTHEN AT efehl d-Teh g :

There are four parts ( i, ii, iii and iv ) in Question No. 1. Each part
has four alternatives A, B, C and D. Write the letter of the correct
alternative in the answer-book at a place by making a table as

mentioned below :

Uy HHIE el AT HT HHTET

Question No. Correct letter of
the Answer

1. (i)

1. (ii)

—

. (i)

—

. (iv)

1. () TP T % B W SURIT Teh WA HT ANRE BT &

1 1
(37 7 €)) 5

€3) ® 1.

|~
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An atom present at the corner of a cube, contributes its

1 1
® g ® 5
1
© 4 D) 1. 3

(i) W BTEGISH TS o SIS dNd T T Bl &
(M o @@ +1

@ -1 ® 075

The electrode potential of standard hydrogen electrode is

(A) O B) +1
© -1 (D) 075 3
(i) = H Y AALEERE €

() Zn* @ cu*

& cr* ® crr.

Which of the following is diamagnetic ?

(A)  Zn* (B) Cu*

C Cr* (D) Cr’. 3
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(iv) ~ STEd ofdoT § o1 TRE] §

(37) Au @ Ag

(¥) Fe ® Pt

Zeisse’s salt contains the metal atom

(A)  Au (B) Ag
(C) Fe (D) Pt %
2. e IdF WIS H UH IFER0T & 5 |
Give an example of hexadentate ligand. %
3. Fe A ° 3giud Toiae i ot Gl @Y |
Write the number of unpaired electrons in Fe’' ion. %
4, AT AT 5T T Th ST AT |
Write an example of supercooled liquid. %
5. B A H HW AWGR! Th o1 H A1 AEH |
Write the name of a cell used in small watches. %

6. oY I Hol o 99 % LI Ieol BT oY HH G T G & 2

What is the relation of bond order with bond energy and the stability of

a bond ? 1
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7. 31T I YIS H GHA |

Explain inert pair effect.

8.  Thehol I el IUF BIl & ? PR |

When does Frenkel detect arise ? Give reason. 1

9. T % 99 & < YT AGH |

Write two uses of Henry’s law. 1

10. H&IROT Ak I ST T & A0 A& |

Write the names of two techniques used for preventing corrosion. 1

11. 3TYSHAT o a7 I TH & H oA IR HRA & AF TG |

Write the names of four factors affecting the rate of reaction. 1

12. Fe, Co @ Ni WHIV3T & SHR FHH & | HRUT T &d THMET |

The atomic sizes of Fe, Co and Ni are same. Explain with reason. 1

13. ST THI o G T ht TIOE A G |

Write the definition of third law of thermodynamics. 1

14. (i) USR ATH FTE ? Th 3307 151 |

(i)  TRHOT e Hepel AN TR I & | 31 HROT &1 5 |
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What are clathrate compounds ? Give an example.

Transition elements form complex compounds. Give two

reasons. 1+1

TS T UH-Ueh ITERT &1 5

a)  EIH Uh A TS

b) ARSI Uh GCHE oS |
T Hepel AT TR FT AR AL, AH AT

a)  K5[Ag(S,05),]

b) [Fe (H,0), (C,0,)],S0,
Write one example of each :

a) Neutral ligand of carbon

b) Positive ligand of nitrogen.

Write the I.U.P.A.C. names of the following complex

compounds :
a) K;[Ag(S,0;),]

b) [Fe (H,0), (C;0,)],S0, 1+1
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16. (i)
(i)
(1)
(i)
17. ()
(ii)
(1)
(i)
18. (i)
(i)
(1)
(i)
19. ()

(i)

(@
(i)

<ThIT TsHH hl TS |

Tl 9 &% o § q TR A G |

Explain Cycle process.

Write two differences between open and closed systems. 1+1

YT Wl T Ueh ISELOT T @Y | SEH! & o9ivan of A& |

YT A I AHI hd TF ST |

Write an example of a fuel cell. Write its two characteristics.

Draw a labelled diagram of fuel cell. 1+1

IR & Goid IS i 37 9T AT o Teh-Ush ISEL0T &1 5T |

Y SAufaed TEeT WU i T hi 3 W IHAT § | GHASS, T |

Give an example each of first and second order reactions.
Radioactive disintegration reaction is a first order reaction.

Explain why. 1+1

I HIZ F 3 TFHAT FI TH TR0 SH T

TEE e 37 95T i < o ol HaY ol STeig o1y |

Explain zero order reaction by an example.
Draw a diagram related with energy and rate of chemical

reaction. 1+1
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20. (i)
(i)
(1)
(ii)
21. (i)
(ii)
(1)
(ii)
22. (i)

(i)

(iii)

8

;3R 3TEA: WohH % Uh-Ueh IR0 of T |

AT dF HT AH v = I |

Write one example each of spontaneous and non-spontaneous

Processes.

Draw a labelled diagram of an isolated system. 1+1

AT o 3 AT 3G T & HRW ATH |

AT 3 & I I FEER T o S |

Write two differences between crystalline and amorphous solids.
Draw a diagram for anisotropic behaviour of crystalline solids.
1+1

ARY 9 SERY ToFH H WS AWI| A T F UH-TH

ST SIS |

NaCl e/ H gHih o5 STo1 ¥ FH =] Fa a5 STl § 374 ¢ |

T |

T TS (M,COs) & 10-35 UM, 250 Hell Sl goad 9o |

ST Tl AHETdT o HieRdT 1 ht 513 (4T (M) 3T IRE0] 9R 39 )|
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(i)

(iii)

23. ()

(i)

(i)

(i)

(iid)

9

Define ideal and non-ideal solutions. Give one example of each

solution.

NaCl solution freezes at lower temperature than water but boils

at higher temperature. Explain.

Calculate the normality and molarity of a solution of compound
(M2COs3) of which 10-35 gm dissolve in 250 ml aqueous solution.

(Atomic weight of metal (M) = 39) 2+1+1
TRAET HeThi o WA &l IR I A ST |
ek ¥ hefeh Uael §Y a91d & | g9, = |
N, 3T0] T Sl de1 3TRE &1 o S |
3

T T 0§ 2 T A 0T A @ |

p-TTEZ AT T TR o-T52! Tl § 3T 4k & | THesd, i |

O, 3] & ol dcT 3TRG FHI T 1Y |

Write four conditions for the combination of atomic orbitals.
Hybrid orbitals form strong bonds. Explain why.
Draw a molecular orbital diagram of N> molecule. 2+1+1

OR
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24.

(i)

(i)

(i)

(i)

(i)

(i)

10

What are matter waves ? Write three properties of these waves.

The melting point of p-nitrophenol is higher than o-nitrophenol.
Explain why.

Draw a molecular orbital diagram of O, molecule. 2+1+1

R -EEIST AR FT & 2 S o Tl AT S A kS0

gkepl

FHW % a9 W Cl, T &, S Bry, 59 o 1, 39 &idl &1 &1 ?

C - Cl 39 gaiF YT = &1 € W] C — Cly 3TgAT gl &1 FROT
T & qHET |
3o

3 oY M E 2 eR I A o o9 STIT A& |

FR FH AT R O, THE TTF S S| Tl ?

CO,d H,0 FHAT TR TH 3] § W] IAh 54 MU H 9gd 3R

€| RO T &d THEAET |
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(i) What are inter-halogen compounds ? Write the molecular

formulae of all known oxyacids of Bromine.

(i) At room temperature Cl, is a gas, but Br; is a liquid and I is a
solid. Why ?

(iii) C - Cl bond is polar in nature but C — Cls is non-polar. Explain
with reason. 2+1+1

OR

(i) What is oleum ? Write any three uses of sulphuric acid.

(i1) At room temperature O; is a gas but Sg is a solid. Why ?

(iii) Both CO; and H;O are tri-atomic molecules but there are large

differences in their dipole moment values. Explain with reasons.

2+1+1
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